CHAPTER 7 TEST A


Name: ______________________

Directions: Show all work.

Section: _____________________

1. The western Alaska population of Steller sea lions was declared threatened in 1990 and endangered in 1997. From the central Gulf of Alaska to the western Aleutian                 Islands, the population crashed from 110,000 in January 1979 to about 20,000 in January 1999. Let t represent the number of years since 1979.  Which one of the following functions describes the best linear model for the Steller sea lion population over this 20-year period?
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2. Which one of the following functions describes the best exponential model for the Steller sea lion population (see #1) over the 20-year period?
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3. Which one of the following exponential functions fits the table of values below?
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4. Which one of the following logarithms is not equal to 3?
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5. Which one of the following expressions is equivalent to 
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6. Which interval describes the domain of the function 
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7. Write the logarithmic equation that is equivalent to 
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8. Write the exponential equation that is equivalent to 
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9. Evaluate 
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10. Evaluate 
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11. Solve for x: 
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12. Solve for x: 
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13. Solve for n in terms of y: 
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14. Solve for t: 
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15. Solve for x: 
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16. Express 
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17. Approximate 
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, applying the ln function on both sides, solving for x and finally using the ln key on your calculator.


18. In 1988, there were a total 27 California condors living. By 1995, captive breeding resulted in 81 young condors.  Of the California condors released to the wild, five died, four from collisions with power lines and one from ingesting ethylene glycol, a poisonous ingredient of antifreeze—so that, by 1996 there were a total of 103 condors living.  Use an exponential growth model to predict the population in 2004.


The population of Palm Desert, CA was 23,252 in 1990 and grew to 29,413 in 1998. Questions 19 and 20 refer to this population growth.


19. Assuming that the population of Palm Desert t years since 1990 can be modeled by 
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20. Based on this model, what population would Palm Desert have had in 1980?


21. Use a calculator to solve the equation 
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22. Use a calculator to solve the equation 
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23. Use a calculator to complete the table.  What pattern(s) do you observe?

24. Given 
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25. Use a calculator to approximate 
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 to the nearest hundredth.  How does this compare with 
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Solutions For Chapter 7 Test Form A.

	1. a
	2. c
	3. b
	4. e
	5. c
	6. f
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  Only x = 7 works.
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18. Let t represent the number of years since 1988. Then 
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So, in 2004, t = 16 and the population would be
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20. In 1980, the population would’ve been
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23. The third column is –1 times the second column and the fourth column is –2 times the second column.  This corresponds to the property of logarithms that 
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